Integration — Calculus AB

Find the general solution of each differential solution.

1. Yogp 9. [ dx
dt (3x)
2. ﬂ=7r 10. j(Zx—4)2 dx
do
3 ﬂzxa/z 11. I(X+3) dx
dx
12. j(2x—3x2)dx
Integrate
13. J.(4x3+6x2—1)dx
4. [¥xdx
J 14, jiA dx
X
1
5. |=dx
j X 15. [/ dx
6. [——dx 16. [/, dx
XN X . X3
7. jx(xz+3)dx 17 X2+x+1dx
e
8. %dx
2x
Integrate each.
18. I(Zsinx+3cosx)dx 21. I(Zseczx—sinx)dx
19. I(tz—sint)dt 22. Isecx(tanx—secx)dx
20. J.(l—csctcott)dt 23. jlfzz:zxdx
Solve the differential equation.
24. f'(x)=4x, f(0)=6 27. f"(x)=2, f'(2)=5, f(2)=10
25. g'(x)=6x",g(0)=-1 28. f"(x)=sinx, f'(0)=1, f(0)=6

26. h'(t)=8t>+5h(1)=-4 29. f'(x)=x7", f'(4)=2, f(0)=0



ANSWERS!

_ 43
Loy=t+C 15. 3y 4c
5
2. r=rm0+C
1
16. - 2+C
2x

3. y=§x5/2+C

17. i\/§(3x2+5x+15)+c
15

4. 3x4c
4
18. —2cosx+3sinx+C
5 —1+C 1
X 19. §t3+cost+C
6 _—2+C
Jx 20. t+csct+C
7 1x4+3x2+C 21. 2tanx+cosx+C
22. secx—tanx+C
. —+C
8 4x* 23. —cscx+C
9 _1.c 24. f(x)=2x>+6
9x

25. f(x)=2x’-1
10. 3x3—8x2+16x+c
3
26. h(t)=2t"+5t-11

1,
11. EX Fx+C 27. f(x)=x"+x+4

12. X¥*-x*+C 28. f(x)=—sinx+2x+6

13. x*+2x* —x+C

29. f(x)=4/x+3x

14. _—13+c
3x



